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Have a go at solving these multiplication problems.
Can you spot the 'trick problem which is not a multiplication problem?

o Shopie baked 45 cakes last week. She used 2
cups of sugar in each cake. How many cups of
sugar did she use in total?

cups of sugar

Jack has 37 chocolate cookies and 15 ginger bread
cookies. Chloe has 6 times more chocolate cookies than
Jack. How many chocolate cookies does Cloe have?

chocolate cookies

It takes a rocket 7 seconds to travel a mile.
How long would it take the rocket to go 2 miles
at that speed?

seconds
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